
Vypočítej příklad a napiš výsledek. Výsledek najdi a vybarvi, 

vznikne ti obrázek. 

 

11 – 2 =  9 + 3 =  12 – 4 =  8 + 5 =   

13 – 6 =  7 + 5 =  14 – 7 =  6 + 7 = 

15 – 8 =  5 + 8 =  11 – 6 =  9 + 7 = 

12 – 5 =  8 + 8 =  13 – 5 =  7 + 4 = 

14 – 9 =  6 + 3 =  15 – 6 =  5 + 7 = 

11 + 5 =  9 + 2 =  12 – 0 =  8 + 7 = 

13 – 0 =  7 + 9 =   14 – 2 =  6 + 5 = 

15 – 4 =  5 + 0 =  20 – 7 =  6 + 6 = 

17 – 4 =  1 + 6 = 

 
 

 

 

 

Co je na obrázku?   ______________________________ 
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VÝSLEDKY 

 

Vypočítej příklad a napiš výsledek. Výsledek najdi a vybarvi, 

vznikne ti obrázek. 

 

11 – 2 =  9 + 3 =  12 – 4 =  8 + 5 =   

13 – 6 =  7 + 5 =  14 – 7 =  6 + 7 = 

15 – 8 =  5 + 8 =  11 – 6 =  9 + 7 = 

12 – 5 =  8 + 8 =  13 – 5 =  7 + 4 = 

14 – 9 =  6 + 3 =  15 – 6 =  5 + 7 = 

11 + 5 =  9 + 2 =  12 – 0 =  8 + 7 = 

13 – 0 =  7 + 9 =   14 – 2 =  6 + 5 = 

15 – 4 =  5 + 0 =  20 – 7 =  6 + 6 = 

17 – 4 =  1 + 6 = 

 
 

 

Co je na obrázku?   SLUNÍČKO 
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